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QUESTION 1

Examine the output of the “get router info bgp summary\\' command shown in the exhibit; then answer the question
below.

# get router info bgp summary

BGP router identifier 0.0.0.117, local AS number 65117
BGP table version 1s 104

3 BGP AS-PATH entries

0 BGP community entries

Neighbor V  AS MsgRevd MsgSent TbhlVer InQ OutQ Up/Down State/PfxRed

10.125.0.60 4 65060 1698 1756 103 0O 0 03:02:49 1
10,127.0.75 4 65075 2206 22350 102 0 0 02:45:55 1
10.200.3.1 4 65501 101 115 0 0 0 never Active

Total number of neighbors 3

Which statements are true regarding the output in the exhibit? (Choose two.)

A. BGP state of the peer 10.125.0.60 is Established.

B. BGP peer 10.200.3.1 has never been down since the BGP counters were cleared.
C. Local BGP peer has not received an OpenConfirm from 10.200.3.1.

D. The local BGP peer has received a total of 3 BGP prefixes.

Correct Answer: AC

QUESTION 2
Which of the following statements is true regarding a FortiGate configured as an explicit web proxy?

A. FortiGate limits the number of simultaneous sessions per explicit web proxy user. This limit CANNOT be modified by
the administrator.

B. FortiGate limits the total number of simultaneous explicit web proxy users.

C. FortiGate limits the number of simultaneous sessions per explicit web proxy user The limit CAN be modified by the
administrator

D. FortiGate limits the number of workstations that authenticate using the same web proxy user credentials. This limit
CANNOT be modified by the administrator.

NSE7_EFW-6.4 VCE Dumps | NSE7_EFW-6.4 Study Guide | NSE7_EFW-6.4 Exam Questions 2/4


https://www.geekcert.com/nse7_efw-6-4.html
https://www.geekcert.com/nse7_efw-6-4.html
https://www.geekcert.com/nse7_efw-6-4.html

VCE & PDF https://lwww.geekcert.com/nse7_efw-6-4.html
) 2024 Latest geekcert NSE7_EFW-6.4 PDF and VCE dumps Download

GeekCert.com

Correct Answer: B

Explanation: https://help.fortinet.com/fos50hlp/52data/Content/FortiOS/fortigate-WAN-opt- 52/ web_proxy.htm#Explicit2
The explicit proxy does not limit the number of active sessions for each user. As a result the actual explicit proxy
session count is usually much higher than the number of explicit web proxy users. If an excessive number of explicit
web proxy sessions is compromising system performance you can limit the amount of users if the FortiGate unit is
operating with multiple VDOMSs.

QUESTION 3
Refer to the exhibit, which contains partial output from an IKE real-time debug.

notify msg r :
shortcut—-query 1259493 010 4384dd592d62cd? 0000000000000000 100.64.3.1
54 psk 64 ppk 0 ttl 32 nat 0 r e 0

mode 0, ext
-1:500->100.64.5.1:500,

;| shortcut-rep - ) 18 438 bZC Sbf040£5£7408c0 100.64.5.1
54 psk 64 ppk O
15F 13.10.1-2 >
forward o= ) 0° id5 f89bf040£5£7408c0
10.1.1.254 psk 64 ppk 0 ttl 31

Based on the debug output, which phase 1 setting is enabled in the configuration of this VPN?

A. auto-discovery-shortcut

B. auto-discovery-forwarder

C. auto-discovery-sender

D. auto-discovery-receiver

Correct Answer: D

Reference: https://docs.fortinet.com/document/fortigate/6.0.0/handbook/320160/example- advpnconfiguration

First the Spoke receives SHORTCUT_OFFER, it respondes with sending shortcut-query. AT the end it receives
SHORTCUT_REPLY and creates new dynamic tunnel (H2S_0_0).

QUESTION 4

Examine the partial output from the IKE real time debug shown in the exhibit; then answer the question
below.

Why didn\\'t the tunnel come up?

A. IKE mode configuration is not enabled in the remote IPsec gateway.
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B. The remote gateway\\'s Phase-2 configuration does not match the local gateway\\'s phase- 2 configuration.
C. The remote gateway\\'s Phase-1 configuration does not match the local gateway\\'s phase- 1 configuration.
D. One IPsec gateway is using main mode, while the other IPsec gateway is using aggressive mode.

Correct Answer: C

QUESTION 5

How does FortiManager handle FortiGuard requests from FortiGate devices, when it is configured as a local FDS?
A. FortiManager can download and maintain local copies of FortiGuard databases.

B. FortiManager supports only FortiGuard push to managed devices.

C. FortiManager will respond to update requests only if they originate from a managed device.

D. FortiManager does not support rating requests.

Correct Answer: A
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